



Certificate in TESOL

We are accredited by Trinity College London to provide this excellent internationally recognised qualification and for this reason it is our most popular teacher training course. TESOL stands for 'Teaching English to Speakers of Other Languages'. It is aimed at those with little or no teaching experience and will equip those candidates with the basic skills and knowledge needed to teach English as a second language. The course is QCF Level 5, comparable in difficulty to the second year of an undergraduate degree.

We have a great success rate on our programme: an amazing 97% of participants who have completed the course have passed and obtained this valuable professional qualification on our last 15 courses!

No teaching experience is required - this course is open to anyone with the qualifications for entry to higher education, such as A-levels. Typical participants include:

- College graduates
- Professional people looking for a career change

- Teachers of other subjects
- People who see TEFL as a means of living and working abroad
- Gap-year students
- People looking to host and teach students in their homes
- Non-native English speakers and international applicants are also welcome

Non-Native Trainees

If English is not your first language, you should have a level of proficiency in English equivalent to CPE, CAE or an IELTS score of 7.0, TOEFL 600.

We cannot stress enough how intensive this course is. Throughout the four weeks there are assignments which will need to be completed outside of the classroom so it is important that you are certain that you can combine home and work commitments at the same time.

Cert TESOL (TEFLi) - Full Time - Trinity College London

Trinity College, London (40 lessons per week)

Monday to Friday 09.00 - 10.30, 10.45 - 12.15, 13.30 - 15.00 and 15.15 - 16.45

	Course Summary	Start Dates	Course Code	Number of weeks	Fees
	Group training Intensive full time programme: Monday – Friday 09:00 - 1700	Cert TESOL	08.02.21	4	
			19.04.21		£1245 Course
			06.09.21		£165 (Moderation Fee)
			18.10.21		(, , , , , , , , , , , , , , , , , , ,

Prices includes: Tuition, Books and Materials, Moderation Fee, Full Health and Travel Insurance

Teacher Training (Erasmus+)

CLIL (Content Language and Integrated Learning)

Compliant with Erasmus+ Funding Criteria

What is CLIL?

CLIL aims to introduce students to new ideas and concepts in traditional curriculum subjects using the foreign language as the medium of communication - in other words, to enhance your pupils' learning experience by exploiting the synergies between the two subjects. This is often particularly rewarding where there is a direct overlap between the foreign language and the content subject.

What are the practical implications of introducing CLIL into the school curriculum?

Teachers need to design materials to suit the needs of their learners, and to enable them to develop until they are working at high levels of cognitive and linguistic challenge.

Our CLIL course will allow teachers to build upon their existing language and learn new ideas and concepts to help teach their academic subject. The course is designed to give teachers an insight into how young people learn languages and how they could teach them. A significant component is giving the teacher the tools to continue to build upon their knowledge and learning after the course in order to continue to gain maximum benefit. The course is designed for non-native English speaking qualified teachers who are required to teach their academic subject in English.

Please Note: Work Shadowing in local Primary and Secondary schools can be arranged, ask for details.



Teacher Refresher Courses (Erasmus+)

What is TEFL Refresher?

Every now and then, even successful, experienced English language teachers can benefit from a refresher. An advanced English teaching course is the perfect chance to explore the latest methodologies and get back in touch with the language you teach

This course will help you refresh your skills and renew confidence in your ELT classroom skills. The course is designed for teachers of English from all over the world who want to develop their language training techniques. There is an element of General English development included in the course as well as development of methodology, classroom techniques and up to date resources to use in your classroom.

Details	Start Dates	No of weeks	Cost per week	Total cost for tuition
CLIL course for	22.02.2021	2	£295	£590
Primary and	12.04.2021	2	£295	£590
Secondary	10.05.2021	2	£295	£590
School subject teachers	21.06.2021	2	£295	£590
and Teacher	05.07.2021	2	£295	£590
Refresher	09.08.2021	2	£295	£590
Courses	25.10.2021	2	£295	£590

Prices includes: Tuition, Books and Materials, Full Health and Travel Insurance

